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QUESTION 1

You have an IPv4 multicast network configured as PIM-SM.

What must be done before replacing your static RP with auto-RP?
A. Enable sparse-dense mode on each of the routers in the network.
B. Configure auto-RP domains on each router in the network.

C. Configure each router in the network as a candidate BSR.

D. Enable each router in the network to forward multicast packets.

Correct Answer: A

QUESTION 2

Click the Exhibit button.
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[edit]

uerf@router# show policy-options

prefix—-list known-ok-sites {
10.10-0.0,16;
12.233.0.0/18;
172.16.0.0/24;
192.168B.12.0/24;

prefix-list known-dir-bcast-sites |
10.2.0.0/16;
12.233.45.0/24;
172160332
192 _.16B.1.0/24;

}
policy-statement prefix-list-policy {
term 1 {
from {

prefix-list known-ok-sites;

}

then accept;
}
term £ {

from {
prefix-list known-dir-bcast-sites;
}
thern reject;

|
term 3 {
from {
route-filter 12.233.45.5/32 exact:

}
then next pclicy;

The policy shown in the exhibit is applied as an export policy to your BGP neighborship. Which action will be taken for
route 12.233.45.5?

A. It will rejected by term 2.

B. It will be accepted by term 1.
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C. It will be accepted by the default policy.
D. It will be evaluated by the next policy.

Correct Answer: B

QUESTION 3

Click the Exhibit button.

Source

b6 &
.o

Receiver

Referring to the exhibit, a PIM-SM network is set up to enable communication between multicast devices. Which

statement is true in this scenario?
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A. After the formation of the shortest-path tree, a prune message is sent from R1 to R5.
B. After the formation of the shortest-path tree, a prune message is sent from R1 to R2.
C. After the formation of the shortest-path tree, a join message is sent from R5 to R1.
D. After the formation of the shortest-path tree, a join message is sent from R1 to R5.

Correct Answer: B

QUESTION 4

You have an MX960 configured as a Fusion aggregation device (AD) and two QFX5100 switches as satellite devices
(SD). You have configured local-switchingfor each SD. A packet with an unknown MAC address is received on one of
the SD extended ports.

Which statement is correct in this scenario?

A. The packet is dropped and a reject message is sent out to the port where it was received.

B. The packet is silently discarded and a reject message is sent to the AD.

C. The packet is flooded out of all the ports on the SD except the one where it was received.

D. The packet is sent to the AD to be processed and forwarded.

Correct Answer: D

QUESTION 5

What is the correct authentication processing order on EX Series switches when multiple Layer 2 authentication
methods are enabled?

A. MAC RADIUS —andgt; 802.1X —andgt; captive portal
B. 802.1X —andgt; MAC RADIUS —andgt; captive portal
C. 802.1X —andgt; captive portal —andgt; MAC RADIUS
D. captive portal —andgt; MAC RADIUS —andgt; 802.1X

Correct Answer: B

Latest JNO-648 Dumps JNO-648 Practice Test JNO0-648 Exam Questions

Latest INO-648 Dumps | JNO-648 Practice Test | JINO-648 Exam Questions 5/5


https://www.passapply.com/jn0-648.html
https://www.passapply.com/jn0-648.html
https://www.passapply.com/jn0-648.html
http://www.tcpdf.org
https://www.passapply.com/jn0-648.html
https://www.passapply.com/jn0-648.html
https://www.passapply.com/jn0-648.html

